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EEhFRmS (GEH 2B HEHR) ERIEE S LR Atk 2 5. Mark’s calculator (#+# %) isbroken (4%3%) , and only the ‘1°, ‘2°, and ‘+ buttons work correctly (iE
B A1 iR =
(BTt a2 0120526 BYIESR ) #i3) . For example, to obtain (3% #F) the number 27, Mark keys in (4€ X)) 22+ 2+2+1, which requires
M [ [ @M [ M M 0[1]2]0][5]2]6 % %) cight keystrokes (#:4%) . What is the fewest (X /" %) number of keystrokes Mark needs in order
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517 I 0 5 [ s o s 9 L 5 - s to obtain the number 2019?
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OO D EHDEDEE™™ :ﬁ _“ij & j}j a i: lE 6. Let A=1, B=2, -, Z=26.Theproduct (&A1) ofa string of letters (F#& &) is defined (& L)
g g g g g g g g g g % E[I': % ; as the product of the corresponding (X} & 49) numbers of each letter in the string. For example, the product
T E [ E EE E g g % g % g of the four-letter string “MATH” is 13x1x20x8=2080 . How many six-letter strings have a product of
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1. A mathematics teacher originally (A #7) designed a 90-minute exam which contains 75 questions. How H 2R PR — AR AR, AT AR A R, (R ETIR R PR, AIFATED R (i
many questions should be removed (%) from the exam if the teacher wants to create a 60-minute exam ST II AR XSG R AT RES BRI
with the same average (“F3)49) time for each question as in the original 90-minute exam? AELEMRAR T AFAE FAEIG . APk BR b, Blinam. . Bt 78, ARG
PRI % o TH R I BRVEM SRS, R = FEA IR AR .
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2. If 3(p+15)+4(p+1)=7(p+gq),then g= s . , . e . , .
BB SN IR, AR, BB R A . b, B AME A R TR
3. Alice, Bob, Carl, and David decided to split (%#) the cost of a restaurant bill (JK¥#) evenly (34 $)3b). TR B RS AT L I E B R HE A, FRREBET ) LSRRI Pl o SRHE (AR
However, Alice only had a ¥10 bill (%) . So as a result, Alice paid ¥10, the other three people each paid AR A W o AR 2 UM 7 DO HLECR AT, AR il 1 SRR s ARASME AR o A
¥2 more. What was the cost of the restaurant bill? RA I ?
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4. AleX7 Berta Carlos and David are w (Z'E 3F ﬁ%/%/\) of a bank rObbery. It has been found out that: —/[\/J\ﬂ? (/J\fﬁﬁﬁﬁﬁiéﬁixfﬁ*%?ﬁiﬁtp )’ EFI /J\HEKAI%‘I%'TIE}E%;&E?;LQ/J\E*, Z/J\Eﬂﬁ%‘ﬁ%fﬁ?eﬂz
(1) If Bert is guilty (7 $£49) , then Carlos is a partner (F]4k) in crime; i) K 4N ER
(2) If Carlos is guilty, then either Alex is a partner in crime, or Bert is innocent (L 3E#)) ; X IX AN SEER S5 R R IR, Ny, RS GENIETUF 5) BP0k R
(3) If David is innocent, then Bert is guilty and Alex is innocent; Ao VKISCIG B, HSVRK, CReRANEIT . KESLIS R, F R SR S /K
(4) If David is guilty, then Bert is also guilty. B. WKIBSZIGH, HiE/K, CREIANET . KB, CRERERAIHE H N K.
Among the four suspects, how many are innocent? C. VkMhsLIGH, 429K, HREAE . KESLEH, H 8 R HLEE H ek
PRI % o D. VKMSLIRH, Z2v&K, FHRANE . KA, 8 UR]HLEE H /N EK
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